NEANERERE - BN ARR

KER26FE1TARBRES

= £ i i A B = £ #h i A B
F—ZRSY7F 40 | Hh¥I7R4 Y 1
A—XK)7 J|xL—L7F 16
RLF— 1 |A%>a 2
2% 9 |E>dL 8
TNHYT 1 |E—U> v X 1
SyUv— 13 |v—2 L 1
NVGTSFoa N ESACYI 82
R1)—x 1|54 2
RS- 2 |=2a—>—5vF 9
hoRST 6 |74z 7 2
Hh+45 B |/ Lyz— 3
RSN 3 |ixx4 Y 4
F 1 |\5574 1
& 783 | R)IL— 8
BE 100 |74 UEY 13
aRYET7 1| R—5>F 3
JVIRFHAME 1| R AL 1
Fa—n v—=<=7 4
F O 1 lnos7 16
FUI—Y 2 [x~Rq> 14
TAR=7 zoz—F> 2
T4k 11oy7 1
TS5UR 37 |o v AHk— 6
Raw 15 |5« 33
A—F 4 |ra 1
J7737 1 |E7 7Y h#fE 3
N — 1N EFAS 1
AV 36 |xE 68
AV RRLT 10 |:xm= 362
% N Y OES & 1
TAILSUR 10 [IRAXTS 1
4 20 | R rF L 35
C¥IAAh 11735 1
ENZ 8 1 |[7LAZT 1
BE - B 540 |EEEE 1

TZ7 1

FILER 1
“ # 2,484




